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Sub-Section Number: 1
Sub-Section Id: 335472248
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354727731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which year did Sir C.V. Raman discover what came to be known as the Raman Effect? | & @12 = 7 T ad
o SATearT TorarT ST T0 UITd o & 8§ ST A1 7T?

Correct : 1 Wrong : 0

Options :

1. ¥ 1925
2. ¢ 1928
3. % 1932
4. ® 1935

Question Number : 2 Question Id : 3354727732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which state is the Lali Sanctuary situated? | @Tel SHARTY e T # 69T 37
Correct : 1 Wrong : 0

Options :

1. ® Kerala | a%a

2. ¥ Madhya Pradesh | Aea ey

3. ¥ Maharashtra | FERTE

4. ¥ Arunachal Pradesh | S0 s

Question Number : 3 Question Id : 3354727733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which vitamin prevents the bleeding of gums? | @19 T T8 AgS! & AT S UFATT FAT 57
Correct : 1 Wrong : 0

Options :

1. ® Nicotinamide | F@iamES
2. ® Thiamine | JTITHM

3. ¢ Ascorbic acid | UHHTe® ST
4. ® Biotin | amieT

Question Number : 4 Question Id : 3354727734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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When did the Quit India Movernent start? | WRT IS SIGIA el ST FoIT?
Correct : 1 Wrong : 0

Options :

1. ¥ July 1942 | J@T8 1942

2. ¢ August 1942 | eMeq 1942

3. ® September 1942 | Rgrax 1942
4. ® October 1942 | S/geR 1942

Question Number : 5 Question Id : 3354727735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

“World Telecomrmunications Day’ is celebrated on
HATT AET 21

Options :

1.¥ 17thMay | 17 RS
2. ¥ 15th May | 15 A8
3. % 13thMay | 1308
4 % 11thMay |/ 11 08

Question Number : 6 Question Id : 3354727736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Article 352 of the Indian Constitution deals with: | YR diden 71 sfjedg 352
Correct : 1 Wrong : 0

Options :

1. # Centre-state relations | Fg-T=g Gae
2. ® Supreme Court | IgAH ~ARTAT

3. ® State emergency | U STITIHTA

4. ¥ National emergency | TERT STITT@TA

Question Number : 7 Question Id : 3354727737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which controversial godmarn was f_g';:s;irled for 20 years on charges of rape and assault in August 20177 | sTEq

2017 H gATCHR S gHA & ARIUT # Tore [dareeug 9d @1 20 91 & To1g St ST 72T 977
Correct: 1 Wrong : 0

Options :
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1. ¢¥ Gurmeet Ram Rahim Singh Insaan | THT OF & &g g9@m=
2. ® Swami Aseemnanand | HaTdl aEAEE

3. # Swami Premananda | GaTdl HHTHE

4. # pAsaram Bapu | IR a1

Question Number : 8 Question Id : 3354727738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is the National Defense Academy located at? | TP THT SEFIGHT g1 90T 57
Correct: 1 Wrong : 0

Options :

1. #¥ Ezhimala | gigmm@r

2. ¥ Dehradun | g0

3. ¥ Khadakvasla | @S®araar

4. ® Vishakhapatnam | @emame-q

Question Number : 9 Question Id : 3354727739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When did Janata Party come to power at the Centre? | S=dT UTe] @el dhg &1 @aT # 318 17
Correct: 1 Wrong : 0

Options :

1. ¥ 1970
2. ¥ 1977
3. % 1996
4. ¥ 2014

Question Number : 10 Question Id : 3354727740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘BHIM'’ is the acronym for: [ ‘BHIM’ & qikaui] (Jeg) &7 &
Options :

1. #® Bharat Initiative for Mobile money | AT gATSURT BT AleTEd AT
2. # Bharat Introduction to Mobile Money | ¥Rd $gISaaH ¢ AITSd HAT
3. ® Bharat Heavy Industries Managerment | HRd 2a1 58€¢ I A9He

4. ¥ Bharat Interface for Money | ¥Rd 520 B AT

Question Number : 11 Question Id : 3354727741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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River that makes a boundary between Madhya Pradesh and Uttar Pradesh is: | A& WS Ud J9 WS & die U@
AT &9 aTelT 78T 5

Correct : 1 Wrong : 0

Options :

1. ¢ Jamni | AT
2. ¥ Chambal | T@a
3. #® Betwa | dqar
4. ® Gamnbhir | THT

Question Number : 12 Question Id : 3354727742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is the first ISO certified railway station in Madhya Pradesh? | Tgiaiad # & &= a1 qeq
e # TR 15O AT Terel €29 22

Correct : 1 Wrong : 0

Options :

1. ¥ Habibganj | geltem
2. ® Khurai | g

3. ® Indore | &R

4. ¥ Bhopal | ¥T@

Question Number : 13 Question Id : 3354727743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is the Mehrangarh Fort located? | HgtTTg Tohell F5T T 57
Correct : 1 Wrong : 0

Options :

1. ® Kota | kT

2. ® Udaipur | IgIR
3. ® Ajmer | ST

4 ¢ Jodhpur | STegT

Question Number : 14 Question Id : 3354727744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The coins of which ruler were found in Shahdol District? | SESia et # v e & gy ug my €7

Options :
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1. ¥ Kanishka | #i-ws
2. #® samundragupta | 99gTH
3. ¥ ashok | 37N

4. ® pkbar | s/@eT

Question Number : 15 Question Id : 3354727745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is the famous pilgrimage centre situated on the banks of the Narmada? | Fainea # &
FI AT Witeg, 3 refamar dig ader & 9 W T 27

Correct: 1 Wrong : 0

Options :

1. ¥ Hoshangabad | glemmare
2. ® Machleshwar | Wl

3. ¢ Omkareshwar | STHAECET
4. ® Eastern Nimar | g AT

Question Number : 16 Question Id : 3354727746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which national park is the nature-rich travel destination Madhai located? | T TgTar 32 # wigld® &7 & 952
ATAT T 9T 2

Correct : 1 Wrong : 0

Options :

1. ¥ Bandhavgarh | aeETTe
2. % pench | U

3. ® Sanjay | €94

4. ¥ Satpura | §IYT

Question Number : 17 Question Id : 3354727747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who built the Deogarh Fort? [ 3amg e e aamar?
Correct: 1 Wrong : 0

Options :

1. ¢ Gond king - Raja Jaraw | g TT - T AR
2. # Chandragupt Maurya | @gd #1d

3. ¥ Nawab of Bhopal | ¥HT& & FaTa

4. ¥ Emperor Ashok | GHTT 379
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Question Number : 18 Question Id : 3354727748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who was the first woman prime minister of India whose 100th birth anniversary was celebrated in November

20177 | ART &I W AfgaAT WeTTAAT B off et 1002 e Feew 2017 # 74T 78 <417
Correct: 1 Wrong : 0

Options :

1. # Vijaylakshmi Pandit | TaSaegaT oiga

2. ¢ Indira Gandi | gfexr Teft

3. ® Rajkumari Amrit Kaur | TSFART 3T H1
4. ¥ Maneka Gandhi | A=aT TTTeft

Question Number : 19 Question Id : 3354727749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

General Maths and General Aptitude
Correct : 1 Wrong : 0

Which Indian north-eastern state does china claim as its own territory? | &= 9 YR 19 JO-Ta| T U A+ 70T
8§14 T ST AT 57

Options :

1. ¥ Meghalaya | RaT@g

2. ® Assam | 3EH

3. ¢ Arunachal Pradesh | &0 Wea
4. ® Mizoram | THFRH

Question Number : 20 Question Id : 3354727750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

November 11 is celebrated as National Education Day in honor of which freedom fighter and minister? | Torer

A AT ST 3 WAt F G H 11 Ty @ g 19T Teae & 0 H g9 e 87

Correct: 1 Wrong : 0

Options :

# Sardar Vallabhai Patel | TG TeavHTE e

# ] B. Kriplani | 3 &t guamt

# pandit Nehru | 9i2g 9g€

¢ Maulana Abdul Kalam Azad [ HIFHT Sege HeTH TS

e

Section Id : 335472249 1
Section Number : 1
Section type : OnlineMandatory or Optional: MandatoryNumber of Questions: 1
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Number of Questions to be attempted: 1
Section Marks: 1
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472249
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number 6545 can be written as a product of a pair of positive two-digit numbers. What is the sum of this
pair of numbers? | §EAT 6545 I UHTcHF G-k 1 GEATS! & I & 0% & &7 § Torar <7 dadr 31 geamsi & g9 Jm
T ATTGe F4T 57

Correct: 1 Wrong : 0

Options :

1. v 162
W FE
3 % 173
4 8 174

Question Number : 22 Question Id : 3354727752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
If 18 men can finish a piece of work in 25 days, then in how many dag;_s will 15 men take to complete it? | aTE

18 smedt 25 Tt # U @1l & GuTH 9K G@d &, 91 15 T 56 @1 @1 T FA & 11 Trd= 1o wii?
Options :

1. ¥ 35days | 35 &9

2. ¥ 30days [ 30 e

® 32days | 32 =

® 33days ;| 33 =

AW

Question Number : 23 Question Id : 3354727753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The area of a rectangle is 180 sq. units and the perimeter is 54 units. If each side of the rectangle is increased

by 3 units, then what is the area of the resulting rectangle in s% units? | U AT &7 &T%d 180 T @S T
54 gawTs 31 IS SITAT @1 Heddr YT | 3 TS E{EW%W UTCUTTHT 31T &7 aTf TS W ST Topa=IT G TT?

Correct : 1 Wrong : 0

Options :

1. ¥ 360
2. ¢ 270
3. % 420
4. % 450

Question Number : 24 Question Id : 3354727754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(2x+3)-(dx +6) =7
Correct : 1 Wrong : 0

Options :

1. ¥ 6x+9
2. ¢ (-2x-3)
3% 2443
4 8 (-6x-9)

Question Number : 25 Question Id : 3354727755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the average. | sffad Haiem
58,19, 20, 21, 12
Correct : 1 Wrong : 0

Options :

1. ¢ 26
2. % 24
3 % 22
4. ¥ 20

Question Number : 26 Question Id : 3354727756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Three friends, whose age difference is 1 year each, find that the sum of their ages is 63. What is the age of the
youngest%gfthe three? | 19 iF, M9 0cd® FT 39 %7 3fa< 1 a4 §, UTd & 1o S-ek! 39 %1 Fol AT 63 31 7141 § Gardd TS &l
39 Topa=ir 27

Options :
1.8 17
2. %18
3. ¥ 20

- ay

Question Number : 27 Question Id : 3354727757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If5x2 - 6x+7=0, then(5x -3} is /ATE 5x2-6x+T7=0,09 (5x-3)? 2l

Correct: 1 Wrong : 0

Options :

® 35
" =5
v -26
® 28

- S

Question Number : 28 Question Id : 3354727758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If (x - 3) is a factor of X’ —3x* +6x—18, then the remainder when x* —3x* +6x—18is divided by
(x-3)is__. /AfE x* —3x* +6x—18 & Wh IUWIES (x-3) 8, N x° —3x* +6x—18 &I (x-3) A

@eTTToid et 9T ATHT grem|

Correct : 1 Wrong : 0

Options :

>

1. %3
2% 2
3% 1
4 v 0
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Question Number : 29 Question Id : 3354727759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A sequence starts with 1, 2, 3. The next number is the sum of the previous three numbersie, 6. The Sth
number is the sum of the previous three numbers and so on. The 8th number in the sequence is___. | U&F 3J@H
1, 2, 3 G URRT 5197 81 STelT ST TUBa! 41 Temsil &7 0T 3 A1 6 81 Sai T 399 Ugel o= TwEmsil &7 I & oK e
| 56 Srerd | S gear ______ 2

Correct: 1 Wrong : 0

Options :

1.°% g¥
2. ¥ 68
3. % 125
4. ® None of the above | IT® § & F1s A5

Question Number : 30 Question Id : 3354727760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
If Ajay earns 25% more than Balu and Balu earn 20% more than Cybil, then by what percentage more does

Ajay earn over Cybil? | Iie 3, dTel & 25% S8 FHTET & 3T 76, Aidd & 20% 8% FHET 5 91 S99, Eidd &
P R Gl AT 27 e &

Options :

1. ¥ 45%
2 ® 48%
3. ¢ 50%

4. ¥ 55%

Question Number : 31 Question Id : 3354727761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Joe and Jack can toast 2 dozen breads together in 10 mins. If Jack falls sick Suddenly, then Jill takes 20 mins
to do the same job. How long will Jack alone finish his job if Jill refuses to join himm? | S 3T & 2 g9 9 &1 GrT
@@ 10 ﬁﬂzﬁﬁwmﬁﬁw ST R US AGT 5, a1 e @1 J6T 1 &1 e § 20 09T 7 31 S @ aiehet 39t
ol @1 e | T gug ie et I8 T 4 | SHW &Y 27

Correct : 1 Wrong : 0

Options :
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1. ¥ 10mins { 10 e
2. ¥ 1Smins | 15 =T
3. ¢ 20 mins | 20 e
4. ¥ 25 mins | 25 =T

Question Number : 32 Question Id : 3354727762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 10% of % is the same as 20% of y, then x:v is equal to: | T x FT10%, v & 20% &F GAM &, T3 v THF aTal 5.
Correct: 1 Wrong : 0

Options :

1. % 51
28 2
3 v2:1
4 ¥ 10:1

Question Number : 33 Question Id : 3354727763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sum of three numbers is 174. The ratio of the second number to tne third number is 9:16, a_nd the ratio of
the first to the third number is 1:4. What is the second number? | 1= G@arsit @71 41T 174 31 @4 TE1 @7 Jract
T ST 9:16 B, S ugel! ST &7 § 16 §EaT & SIuTd 1:4 31 GO HEAT H4T 57

Correct : 1 Wrong : 0

Options :

1. ¥ 52
2. 8 45
3. ¥ 54
4. % g0

Question Number : 34 Question Id : 3354727764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The fourth proportional to X +y, (X +y)*, @ -V is: /X +v, X +v)*, (X-V) %ﬂ@ﬁm &

Options :
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4. % (x+vy)

Question Number : 35 Question Id : 3354727765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sum of the angles of a regular polygon is 1440°. The ratio of the interior to exterior angle
is /U TH TGS & IV BT AETHA 1440° §1 3A: HIOT FH GfRSHIOT H
ki I

2

Correct : 1 Wrong : 0

Options :
1.8 14
o W4
3 % 1:3
48 31

Question Number : 36 Question Id : 3354727766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If23x22x0.11 = 5.566, then 0.023x 0.22x 0.00011isequalto___. | AE2.3x%x22x 0.11 = 5.566, T
0.023x 0.22x 0.00011 & ATE 2l

Correct: 1 Wrong : 0

Options :

1. ¥ 0.0000005566
2. ® 0.000055686
3. ® 0.005566

4. ¥ 0.000005566

Question Number : 37 Question Id : 3354727767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What should be added to 18962, so that it becomes divisible by 137 | 18962 # F4T AIST AT AR, ITw 95 13 &
o o9 ST?

Correct: 1 Wrong : 0

Options :

R
® 8 %

Question Number : 38 Question Id : 3354727768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2101%2="

Correct : 1 Wrong : 0

Options :

1. ¥ 4414501
2. ® 4414401
3. ¥ 4414201
4. ® None of these [ 370 & ®IE 751

Question Number : 39 Question Id : 3354727769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A train 360 mlong is running at a speed of 45 km/hr. In what time will it pass a bridge 140 mlong? | 360
HieT alelt G ST 45 ot/ ot &1 mid @ o @ g1 o a0a § 95 140 Hiex del Tl ®1 IR & @il

Correct : 1 Wrong : 0

Options :

1. ¢ 40 sec | 40 IS
2. % 42 zec | 42 IS
3. ® 45 sec | 45 IS
4. # 48 sec | 48 IS

Question Number : 40 Question Id : 3354727770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Ravi buys toffees at the rate of two toffees for Re. 1 and sells at five for Re. 1. His loss percent is: | ERG Ry
o ST TTHT @1 3T & T @IgdT 3 S} Uk ©U7 § U &1 5T & Sad T g1 I9& Jaard &1 iad o

Correct : 1 Wrong : 0

Options :

1. ¥ 120%

2. % 90%

3. ¥ 30%

4. ¢ 60%
Section Id : 335472250
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20

General Hindi

Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472250
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TR et e W ___ 3 Tordt St B

Correct: 1 Wrong : 0
Options :

v

N =

4. ® fig &

Question Number : 42 Question Id : 3354727772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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' ol # fora= @l gid 87

Correct : 1 Wrong : 0

Options :

1. ¥ Ui
2. 8 f7

4% 5

Question Number : 43 Question Id : 3354727773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ToreT e &1 /AT 51 BT ?

Correct : 1 Wrong : 0

Options :

SV VI
8 8
o N @

-
2
A

Question Number : 44 Question Id : 3354727774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T 3 Timat @Y wel-Tid awsrEm
Correct : 1 Wrong : 0

Options :

1. ¥ mgreg
VS

w o

NN

Question Number : 45 Question Id : 3354727775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T | ) el o e R e e o glaT gl

Correct : 1 Wrong : 0

Options :
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1. ¥ 3@
2. ¢ 3K
4 8 a3

Question Number : 46 Question Id : 3354727776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

BT HT UL g # & @I ar a7
Options :

1. ¢ it

2. ® grivor

- 2

DW

4. ¥ gEm

Question Number : 47 Question Id : 3354727777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘T TR T U &1 AT 5 o Toiel U Seg, 99 H & &1 a1 37
Correct: 1 Wrong : 0

Options :

WW

® &

LU I L% B

o

Question Number : 48 Question Id : 3354727778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘sper @ A9t foedg Mg A A @ arg?

Correct : 1 Wrong : 0

Options :

1. ¢ gt +aq
2. 8 ya+am
3. ® sfi+aM
® T+

-

Question Number : 49 Question Id : 3354727779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘W FT TR Jeg (9 H w4 9T 87

Correct : 1 Wrong : 0

Options :
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1. ® Twq
2. ® @@
3.V 1R
4. ® mEHT

Question Number : 50 Question Id : 3354727780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘I 0T F T e M H A BT E?

Correct: 1 Wrong : 0

Options :

' I
® Z9
® =t

I

Question Number : 51 Question Id : 3354727781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘TRt Teg # g H @ @9 97 wHE g7
Options :

1. ¥ goqey gu

2. ® fgranE

4. ® grediiy gaTd

-
Question Number : 52 Question Id : 3354727782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T TRH AT Pgrak &1 onf g H @ wa | g?

Correct : 1 Wrong : 0

Ll

Options :

1. ® et o

2. ¥ gaaAr

3. ¥ U ARAT

4. ® TG S diem

Question Number : 53 Question Id : 3354727783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TEIAR T g 0 g A F T AT E?

Correct : 1 Wrong : 0

Options :
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Question Number : 54 Question Id : 3354727784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TR @ewd | g1 JA-dT TST ST H T o
AT, FT, SeAT-aAEd, T F9T & &g 7 aw@ 1|
U A A Mg H A BT AT E?

Correct : 1 Wrong : 0

Options :

1. ¥ g
2. ¢ o
3 % gRTE
4. % g™

Question Number : 55 Question Id : 3354727785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T W ol il SATel &1 gXTe et
H @1 AT AWK 3 Fal fddwed gwu?

Correct : 1 Wrong : 0

Options :

1. ® Iehgm aEwR
2. ® @3F SEAN
3. ¢ IAF SEFR
4. ® 9 AFFT

Question Number : 56 Question Id : 3354727786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
JUGH g T AT Jeg gf=u- g
Options :
1. ® arsgor
2. ¢ gy
3. ¥ gy
4. ¥ qiftT
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Question Number : 57 Question Id : 3354727787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Z AT G Aeg Ui ]

Correct : 1 Wrong : 0

Options :

1. ¥ Qewa smsfiare, €9t oaar

2. ® drawe, smsfivare, S, waar
3. ® P, snidRane, waae, FHewe
4. ¢ Tovwa, sndftate, $wi, wemET

Question Number : 58 Question Id : 3354727788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T ATTeTt & AT ATHIEE Jeg & -

Correct : 1 Wrong : 0

Options :

1. ¥ =g

2. ® (EPHAR
3 ¢ g9-ged

4 8 Zg-F1a

Question Number : 59 Question Id : 3354727789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

' T e T SRFE -

Correct : 1 Wrong : 0

Options :

AW e
8 % <

®

Question Number : 60 Question Id : 3354727790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T Toger # & Tore anTe 7 38150 37
Correct : 1 Wrong : 0

Options :

Fural Economy and Fanchayati Raj
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1. ¥ Zz9ug
2 ® FHyRy guTT
3 ® fgranE

4. ¥ gty aa g

Section Id : 335472251

Section Number : 4

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472251
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Recognizing the potential and pOSSibﬂitiES in the fisneries sector, Government of India has envisaged a
programnarmed _________. | Fo T &1 H &RaT ST STaTsT @1 Uge=d g0, R SRR AHE

o

Correct: 1 Wrong : 0

Options :

1. ¢ Blue Revolution | et @iia
2. ® Matsya Yojana | HqEd AT
3. # Sea Revolution | GHGT #ild
4. # White Revolution | & #iid

Question Number : 62 Question Id : 3354727792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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_________ project has the mandate to provide hig%l-speed broadband to all panchayats by March 2019. | AR
2019 T Gt T=Tad ! 1 3 i aTel Fleas TeH @i & feld _________ URZSET STfega 21

Correct: 1 Wrong : 0

Options :

1. ¢ BharatNet | YRa=e

2. ® Mission Fingerling | e i
3. ® Telecom Yojana | Ta(TwTH FrT

4. ® vidyanjali | et

Question Number : 63 Question Id : 3354727793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

As per available estimates (CAR-2010), out of a total geographical area of 328.73 million hecta about
_________ is subjected to various kinds of land degradation in the country. | JUdesl SFATHT (TSR 2010) &
AR, 328.73 TaTca gaeT & el Al &7 HTamm _________ , ¥ e e @ I &OT F srefie fopam T )

Correct : 1 Wrong : 0

Options :

v 37%
® 20%
® 15%
® 54%

ol L I

Question Number : 64 Question Id : 3354727794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Who decides the agenda of meetings of Gram Panchayat ? | UTH UZTId @1 daed! @l FRIGT B (Haiid #dl 87
Options :

1. ® District Collector | FaTeftar

2. #® Janpad Panchayat | S99 U=

3. ® Zila Panchayat | S&T v=mad

4. ¥ Gram Panchayat | TTH U=ad

Question Number : 65 Question Id : 3354727795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Mic:%p%?the following is NOT a component of Gram Kosh (Village Fund) | aieaa # & @37 um @iy (um fate) &
365 /

Correct: 1 Wrong : 0

Options :

1. ¥ Anna Koash | g &
2. ¢ Samagri Kosh | |Gt &g
3. ® Shram Kosh | W %19
4. ¥ Nagad Kosh | 77g &9

Question Number : 66 Question Id : 3354727796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the term of presidents of standing committees of Gram Sabhas except Gram Vikas Samiti | 7 e

TR BT FISH UTH T T AT FRTE AT & STeTail B FTART a1 51aT 57
Correct : 1 Wrong : 0

Options :

1. ¥ 1year |1 ad
2. % 2year |2
3. % 3year | 3
4 ® Syear | Sad

Question Number : 67 Question Id : 3354727797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

%I%i%la_rg, Bh%ois, Raikwars and Barmias of Madhya Pradesh belong to: | A WS & AR, WIgd, {war i aiaar

Correct : 1 Wrong : 0

Options :

1. ® Poultry farming communities | FFe TeH F del TEETT
2. ® Goat rearing communities | I UTA- B dld GHE

3. # Sheep rearing cormmunities | 4 UTA- H ATel AYETT

4. ¢ Traditional fishing communities | WURTTT HFcll UTe- ¢ dlct 9gard

Question Number : 68 Question Id : 3354727798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The National Food Security Act was enacted in which year? | TR @Ter geaT arfer=em o ad ey o mar?
Options :
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1. ¥ 2013
2 ® 2010
3 ® 2007

4. ¥ 2005

Question Number : 69 Question Id : 3354727799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich of the following day is celebrated as National Panchayati Raj Day? | Rgiaiad # @ @19 a1 o, vt vamadt
T e & &7 § A9m7 AT 87
Correct: 1 Wrong : 0

Options :

1. #® January 15 | 15 S=ad
2. ® January 20 | 20 =0
3. ¢ April 24 | 24 sMa

4. #® January 30 | 30 F=a

Question Number : 70 Question Id : 3354727800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

After 73rd Amendment, Janpad Panchayat Elections were held for the first time in Madhya Pradesh in _______.
| 73d Qe & 9Tg, SIS DT g, Hed UGd H Ul 9] _______ # s forg o én

Correct : 1 Wrong : 0

Options :

1. ¥ 1959
2. % 1965
3. % 1972
4. v 1994

Question Number : 71 Question Id : 3354727801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Tejaswini Wornen Empowerment Prograrmme in Madhya Pradesh, financial assistance to wormen is %iven

through: | meT WSa # AR T TIRH 0T HIAFEH o ST 9 & Hedh A & Aigarell &1 &g agrar of It

Correct : 1 Wrong : 0

Options :
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1. # Joint Liability Group | €% alidcd T4z

2. ¥ Self Help Groups | a4 @gradTl aqg!

3. ® Association of women | AigaT @9

4. # Women panchayat members | AfgaT =T Gl

Question Number : 72 Question Id : 3354727802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of farmers insured under Pradhan Mantri Fasal Bima Yojana and Restructured Weather Based
Crop Insurance Scheme {combined) in Madhya Pradesh during Kharif 2016 is between _________. | e nea H
GUH 2016 & S T HAT GHA STHT D191 o SIqTa &M QTS HIGH STETRA BHe S HT 19T (§9F) s el @l
qEqT

Correct: 1 Wrong : 0

Options :

1. ¥ 26-30lakhs | 26-30 A1
2. ¥ 31-35lakhs | 31-35 @1
3. ¢ 36-40 lakhs | 36-40 @19
4. ¥ 41-45lakhs | 41-45 @1

Question Number : 73 Question Id : 3354727803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Madhya Pradesh State Government has tied up with ______ for assistance in planting fruit crops. | 7e WSy =
THR o BASK B! ol UTE § FganT & g _____ T gHS T ToFaT 81
Options :

1. # Union Agriculture Ministry | ¥ 8 AZ@T

2. ® Indian Agriculture Research Institute | WA FY ey g9

3. ® agriculture Produce MarketingCormrmittee | F¥ IeuTe, fauue aiRid
4. ¢ NABARD | 911

Question Number : 74 Question Id : 3354727804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is a food crop? | Tgiead # & @19 €1 UeF Gl T 57
Correct : 1 Wrong : 0

Options :

1. ¥ Jute | ¢
2. #® Cotton | FuTg
3. ® palm | T
4. ¥ Maize | Tg@T
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Question Number : 75 Question Id : 3354727805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is considered as the architect of Panchayati Raj in India who was also a Chief Minister of an Indian state?

| ARG H U T O T A (o BT AT 87 o Uk 9K 19 o o geamgar | 67
Correct: 1 Wrong : 0

Options :

1. ® Kailashnath Katju | 31sr 977 #1e
2. ¥ Balwant Rai Mehta | ad@dd T2 AgaT

3. ® Mohanlal Sukhadia | AlgaaT gaEiear

4. ¥ Govind Ballabh Pant | Mg deay Ua

Question Number : 76 Question Id : 3354727806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich of the following bank is the sponsor bank of Central Madhya Pradesh Gramin Bank? | fAgfeiiad # & #19
T e, Do 1a A VA UTHIVT s T WA da 57

Correct : 1 Wrong : 0

Options :

1. #® State Bank of India | 9RET €< dF

2. # United Bank of India | JATgee d& 34w 5iEam
3. ¢ Central Bank of India | "¢ ¥ 3fp giEar
4. # Union Bank of India | g+ o 3iTF gigar

Question Number : 77 Question Id : 3354727807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
‘Awaas’ is an Android App related to: | ‘STETE 9 € ST UF US19E U007 &

Options :

1. ¥ Pradhan Mantri Awas Yojana - Gramin | WeIT=A=T ST =T - TTHiT
2. ® Indira Awaas Yojana | EiexT Smane Fra=T

3. ® Pradhan Mantri Gram Sadak Yojana | WeIT=AAT UTH 98% T

4. #¥ Deen Dayal Upadhy Gramin Kaushalya Yojana | SI9 S2Ta JUTEATT TTHI ST TT
Question Number : 78 Question Id : 3354727808 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is to be the accounting system in Gram Panchayat? | TTH U=ITad | #1aT HUTTeT 4T 27
Correct : 1 Wrong : 0

Options :
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1. ¥ Double Entry Book-keeping systerm | Sad Ul -1 [GHeH
2. ¥ Mahajani accounting system | AgTHT QHTIIT aeeH
3. # Receipts and Payments system | tiére ua idTe Feew
4. ¥ Co-operative accounting systern | #i-TRiea UwFRI f&eeq

Question Number : 79 Question Id : 3354727809 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What will be the basic and initial fund of a Self Help Group? | U < GgIdT G I G Ud WKW ATer T gir?
Correct: 1 Wrong : 0

Options :

1. ¥ Amount of bank loan | & Jor &t Tisr

2. ¢ Contributions made by members | Gg&al ZRT T 2T G540
3. # Contributions from public | |TE=® TganT

4. ¥ State Government grant | T9 T@HR HEH

Question Number : 80 Question Id : 3354727810 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the minimurm amount required to be maintained as balance in MGNREGS wages account of a worker? |
HAUT o SqTd Yo Hg & UTieA T @1d # §qe o &0 § =qAqH fa1 i T srersaaar g7

Correct : 1 Wrong : 0

Options :

1. ¢ No minimum balance | @1 ~JAqd &= a1
2. ¥ Rs. 50/~ | S0 70

3. ¥ Rs. 100/~ { 100 70

4. ¥ Rs. 250(- | 250 2

Computer Knowledge

Section Id : 335472252
Section Number : 5

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20

Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
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Sub-Section Number: 1
Sub-Section Id: 335472252
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_____ . | UHE UFEd 2007 gadie # Taadt &

Correct : 1 Wrong : 0

Options :

1. ¥ 18384
2. ¢ 16384
3. % 1024
4. 8 255

Question Number : 82 Question Id : 3354727812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

DSL is an example of: | STUEUA SHFT UF IS0 &
Correct : 1 Wrong : 0

Options :

1. ¥ Network | JTad

2. ® Wireless device | aRRHd fSaEd
3. ¢ Broadband | Figds

4. ® Spectra band | GUFLT &S

Question Number : 83 Question Id : 3354727813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Firewall is a term used in: | 96g ‘BRRAT W9 H IgHA AT 3 :
Correct: 1 Wrong : 0

Options :

1. #¥ Homne security | o< % geaT

2. ¢ Internet security | et HI T
3. ® Computer security | FIET B LT
4. # Any security | Tordt ot geam

Question Number : 84 Question Id : 3354727814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

19th Dec 17 Shift 2



19th Dec 17 Shift 2

& machine code is the elemental language of cormputers, comprising a long sequence of: | A ®IZ FYLT @l

Correct: 1 Wrong : 0

Options :

1. # Alphanumeric characters | SIgRTH g GUdid
2. ¥ U'sand O's | 5% Ud T

3. ® Machine symbols | AT udte

4 ® p'sand B's | A'SUIB'S

Question Number : 85 Question Id : 3354727815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In MS Excel, press _____ to create a formula to sum all of the above cells. | TAUE Uhad H, 4T IWIdd daf & AT
A B BIHAT o Twior o oy _____ FEITAT ST 3]

Options :

18 CuFds

2.V Alt + =

38 Ctrl + Alt + A
4 8 Alt+Tab+ A

Question Number : 86 Question Id : 3354727816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_________ 15 used to list the terms and topics discussed in a Word docurnent, along with the pages that they

appea%og. [ T JUAIT g STagHe ¥ uiaihd ada! aur fawat & get a9 & fow e ST g, STt e M we

Correct: 1 Wrong : 0

Options :

# Bookmark | gwHTE

# Hyperlink | gEWid®
¢ Index | o949
# Table | Tga

o S L I

Question Number : 87 Question Id : 3354727817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Internet explorer falls under: | T THFATARY (HHA & SFTq AT 3 :
Correct : 1 Wrong : 0

Options :
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1. ¥ Operating System | TR fEgen
2. ® Ip Address | amE 4l U229
3. ¥ Compiler | FHUEAT
4. ¢ Browser | ST39¢

Question Number : 88 Question Id : 3354727818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is NOT a storage medium? | MEATATRET # & B9 G2 &7 ATedd T51 57
Correct: 1 Wrong : 0

Options :

¢ Scanner | ¥

# Digital Optical Disc | e sifftewra f2aw
# Hard Disk | 318 29%

# Compact Disc | ®THI%E ISqF

ool L I

Question Number : 89 Question Id : 3354727819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In MS Word, borders can be appliedto __________. | TAUE aE |, e e SuanT _______ H Topar ST geraT 31
Correct: 1 Wrong : 0

Options :

# Cells only | %ad dad
# paragraph only | %ad SRIME
#® Text only | %dd e
. ¢ All of the above | IuIgd af

e L I

Question Number : 90 Question Id : 3354727820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwhich of the follovgin command 1s NC_)T available in the Home menu in MS Word 20077 | THIE I8 2007 #
ﬁqwﬁﬁaﬁ#—mméuﬁaﬁmn@%%?

Options :

1. #¥ Find | BES

2. ® Replace | feag
3. ® Select | Walge
4 ¢ Table | Taga

Question Number : 91 Question Id : 3354727821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The _________ feature in MS Word 2007 automatically corrects certain spelling, typing, capitalisation or

gramma%errors. [T aE Gt T ad |, Trefi, o1 & 92 araRl § ulkad - srrar caraer $1 Fiedt ®1 gaa
eg AT
Correct : 1 Wrong : 0

Options :

1. #® AutoFix | aficihed
2. ® autoSpell | ergUA
3. #® AutoMark | AT
4. ¥ sutoCorrect | Hieiaige

Question Number : 92 Question Id : 3354727822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The memory which is electrically programmable and ultraviolet is called as _____. { g UERT ST dggd €7 9 g
N Ud AT g e Eﬁsﬂldl E

Correct : 1 Wrong : 0

Options :

1. ¥ ROM
2. ¥ PROM
3. ¥ EPROM
4. ¥ RAM

Question Number : 93 Question Id : 3354727823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

DRAM stands for: { DRAM 907 & Ty ngepa giaT 8

Correct: 1 Wrong : 0

Options :

1. #® Direct Random Access Memory | STgtae (S Ugad Aai
2. ¥ Dynamic Random Access Memory | SRHTH® (S0 UFdad RS
3. # Dynamic Read Access Memory | STERH® O UFad AAI
4. # Dynamic Read Access Machine | SHRF O Ugaq T

Question Number : 94 Question Id : 3354727824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which command you will see display systemn date in MS-DOS? | qAUH-21q #, o1y feweig e w 2T & My a9 ar
FHIE E?
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Options :
1. #® Ver command | Ver FHE
2. ¢ Date command | 2T THIE
3. ® Format command | BTHe FHIE

4. ® Disk command | Zg% FaiE

Question Number : 95 Question Id : 3354727825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

________ 15a microprocessor—based computing device. |
Correct : 1 Wrong : 0

Options :

1. #® mainframe | A=A
2. ¥ personal computer | FHAA HTYET

3. # super computer | U FYIT
4. # analog computer | TATANT HUYET

Question Number : 96 Question Id : 3354727826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘05’ computer abbreviation usually means: | 'OS' FET GIEYT FT dHFT 3R 8 :
Correct : 1 Wrong : 0

Options :

1. #® Optical Sensor | STtedHd dGC

2. ® Open Software | U9 GTFeaaR

3. ¢ Operating Systermn | SR Baeq

4. ® Order of Signification | T2t 7w EUTHEI

Question Number : 97 Question Id : 3354727827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which shortcut key is used to move to the next worksheet in M3 Excel? | UAUE UFad § aMTel adhafte # 94 & g
o ST it T U H?

Correct : 1 Wrong : 0

Options :

1. ¥ Alt + PgUp
2. #® Ctrl + PgUp
3. ® Alt + PgDn
4. ¢ Ctrl + PgDhn

Question Number : 98 Question Id : 3354727828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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‘CD’ computer abbreviation usually means: | ‘CD’ #tggT GIgTHT &1 am-ar arf g1aT1 &
Correct : 1 Wrong : 0

Options :

1. ¥ Change Data | =9 32T

2. ¥ Copy Density | @t &t

3. ¢ Compact Disc | #1i%e i2HF

4. # Command Description | e Efewga

Question Number : 99 Question Id : 3354727829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The key for “Save as* function in MS Word 2007 is: | TAUH g8 2007 ¥ “8d U G & o] gl & -

Options :
1, VRLD
2. ¥ F10
3. ® F6
4. ¥ F11

Question Number : 100 Question Id : 3354727830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which of the following word processmg ut1ht co ou use to find the synonym of the word? | FRRAET # &
Tore a2 TIATAT FRTACT T IU=IT 1T qHETE ¥ Toig W

Options :

1. ® Spelling | €fam

2. ¥ Thesaurus | dfiEra

3. ® Grammar | TTHT

4. #® Word Count | I8 F13¢
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